THI6FE (2024)

500 HEXRF/\RTy MR—ILEFHEAR ARHIRE - TOX

B2 BF A B C
5/3 11:00 EIEA — [ELUX LA — ZHEX #HmAx —  IPUC
B g=4 g=g
(&) 66 94 66 21 75 69
f=H 12:40 e IPUC — [GfEK = =K — EXKX & BRKX — [EX
52 64 93 79 70 40
14:20 = IPUA — uOX % BERK — M@K = wax — =8
97 45 55 60 33 116
16:00 = gX — BiRX = [RIX — IPUB . IPUB — XX
77 69 102 86 93 81
17:40 = LEBX — LXK = Nifgx — AKX 7 LXK — BEEX
115 53 51 104 20 0
5/4 9:00 - IPUC — BE#BRX . ZHAA — IPUC & IWOKR —  [AXK
() TO 49 80 60 90 77 85
f=H 10:40 " LEBX — [LEX = IPUB — JIIfEX & NHAR — [EEX
TO 80 91 91 54 115 42
12:20 - IPUA — X e WaK  —  [EX . IPUA — AKX
TO 88 59 110 67 99 50
14:00 o =BK  — EJK o XA — BEX & #WhHAX — =BK
TO 61 74 87 69 59 72
15:40 o LIXK — BEmX = IPUB — LK & EXA — IPUB
TO 74 94 58 61 90 72
17:20 & BRX — EBK
TO 55 90
5/5 9:00 = IPUC — JIlIfgK & wax  —  EEX “ MHKRK — THKX
(8 TO A3 3&9D 5/4 A1Es (38F) C33%9D
f=H 10:40 = LEX — [EbX % MIEX — BEKX = IPUC — [AXXK
TO Al 3%9D B4 3%9 D C13%39D
12:20 o =KX — LIK o BiEX — WwAx & X —  #HmK
TO A5 3%9D Bl 3%&9D C23%9D
14:00 = KER  —  IPUA o LXK — LEEX & IPUB  — BIRX
TO A2 3%9D 5/4 B3k (BF) C6 3&9 D
15:40 = mEA  — AR = IPUB  — 5/5B2M & IPUA  — =RK
TO A4 329D A4 329D C4 389D
17:20 - LXK — LEBX
TO C53%9D
5/6 9:00 [, 5/5 B5& — 5/5A1& TE Cl& — 5/5C2& TE C2i — 5/5B1&
(A) TO A3 3%9D B3 3&9D C33%39D
Flss 10:40 | o0 5/5 BSHS — 5/5A1B LE B1Bs — 5/5 C1B% ot /5 C3& — 5/5C4&
TO Al 3%9D Bl 3%9 D Cl13%9D
12:20 oy 5/5B3B — 5/5 BAB e 5/5B38& — 5/5B4& Sy 5/5C38 — 5/5CAl
TO A5 3%9 D B5 3%9 D C53%9D
14:00 5/5A28s — 5/5A3s| _. 5/5A28 — 5/5A3&| _. 5/5C58 — 5/5C6&
541 741 3L
TO A2 3%9D B2 3%9 D C23%39D
15:40 | e 5/5 AdBs — 5/5 A5 3 5/5 AdE — 5/5 A& S 5/5 C58 — ;/5 C6h%
TO A4 329D B4 39D C4 3%29 D




